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Theorem 1 (Unbiased Reconstruction). Given the re-
construction in (7), we have
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Theorem 2 (Reconstruction Error). Given the recon-
struction in (7), we have
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each block [, we have
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Proposition 2 (Block-Wise Reconstruction Error).
For block-wise reconstruction (8) of size L, when /d; >
K, foranyl € L],
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which is minimized by choosing K; o< /|| Al / ps-

Input: w,, N, R, T, K, n
1 for each round r € [R] do
2 for each client j € [N] in parallel do
3 if > 1then // Step (D: Global Aggregation
4

Receive {s'”}¥ | and {y(i)}ﬁf{kzl
Generate bases {v{’} K k—1 Using {s"N Y,
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for t € [T]do // Step @: Local Updates
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// Step 3: Projected Updates

10 Randomly set s'/) and generate bases {v Nk
11 AV WD) ) , compute (VN K with (6)

12 Send s'%) and {7(9 )} ,—1 to the central server
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